Josef Daneš Equivalence of some geometric and related results of nonlinear functional analysis

Commentationes Mathematicae Universitatis Carolinae, Vol. 26 (1985), No. 3, 443--454

Persistent URL: http://dml.cz/dmlcz/106385

Terms of use:

© Charles University in Prague, Faculty of Mathematics and Physics, 1985

Institute of Mathematics of the Academy of Sciences of the Czech Republic provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these *Terms of use*.



This paper has been digitized, optimized for electronic delivery and stamped with digital signature within the project *DML-CZ: The Czech Digital Mathematics Library* http://project.dml.cz

COMMENTATIONES MATHEMATICAE UNIVERSITATIS CAROLINAE

26,3 (1885)

EQUIVALENCE OF SOME GEOMETRIC AND RELATED RESULTS OF NONLINEAR FUNCTIONAL ANALYSIS J. DANES

Abstract: The author's Drop theorem, Generalized drop theorem, Krasnoselskii-Zabreiko renorming theorem, Browder s generalization of the Bishop-Phelps theorem, Ekeland's variational principle and Caristi fixed point theorem are mutually equivalent.

Key words: drop, fixed point.

Classification: 47H10, 47H15, 46B99

<u>Introduction and notation</u>. The goal of this paper is to show that the theorems listed in the abstract (see theorems D, GD, KZD, B and B', E and C below) are mutually equivalent.

If D is a convex set, M a set and s a point in a linear space, then co(M) denotes the convex hull of M, K(D) the convex cone generated by D (i.e. the set $\{tx : x \text{ in } D, t \text{ in } R^+\}$), $K(D,s) = co(D \cup \{s\})$ (the generalized drop with vertex s and basis D). If (X,d) is a metric space, D and S sets in X, s a point in X and r > 0, then B(s,r) denotes the closed r-ball centered at s, $d(s,D) = \inf \{d(x,s) : x \text{ in } D\}$ (the distance of s from D), $d(S,D) = \inf \{d(x,y) : x \text{ in } S, y \text{ in } D\}$ (the distance of the sets S and D) and diam(D) = sup $\{d(x,y) : x,y \text{ in } D\}$ (the diameter of D).

<u>Acknowledgement</u>. The results of this paper have been obtained during the author's stay at Riga State University (Sept.-Oct. 1978). The author is grateful to the authorities of Riga State University for excellent conditions for his work.

1. Preliminary (geometric) results.

Lemma 1. Let D be a convex set in a linear space X, s_0 in X and s in K(D,s₀) (so that $s = as_0 + (1-a)u$ for some a in - 443 - [0,1] and u in D). Then: (1) $s + t(K(D,s_0)-s_0) \subset K(D,s) \subset K(D,s_0)$ for all t in [0,a]; (2) if X is a normed linear space, $d(s_0,D) > 0$ and $t_0 = d(s,D)/d(s_0,D)$, then $t_0 \leq a$ and ($s + K(D-s_0) \cap B(s,t_1d(s,D)) \subset s + t_2t_0(K(D,s_0)-s_0) \subset C K(D,s_0) \subset K(D,s_0)$ for all $0 \leq t_1 \leq t_2 \leq 1$.

<u>Proof.</u> (1) Let x in $s + t(K(D,s_0)-s_0)$ be given $(t \in [0,a])$. Then x = $s + t(bs_0 + (1-b)z - s_0) = s + t(1-b)(z-s_0)$ for some b in [0,1] and z in D. Assume a > 0. Then $s_0 = a^{-1}s - a^{-1}(1-a)u$, so that x = $(1 - a^{-1}t(1-b))s + a^{-1}t(1-b)(az + (1-a)u) = (1-c)s +$ + cw, where c = $a^{-1}t(1-b)$ and w = az + $(1-a)u \in D$. But $0 \le c \le$ $\le 1-b \le 1$ and hence x is in K(D,s). Then the inclusion $K(\bigcirc,s) \subset C$ $K(D,s_0)$ is trivial (both D and s are contained in $K(D,s_0)$). Assume a = 0. Then t = 0, s = u $\in D$ and (1) is trivial.

(2) As $(s + K(D-s_0)) \cap B(s,t_1d(s,D)) =$ = $s + t_1(K(D-s_0) \cap B(0,d(s,D))) \subset s + t_2(K(D-s_0) \cap B(0,d(s,D))) =$ = $(s + K(D-s_0)) \cap B(s,t_2d(s,D))$ and similarly $s + t_2t_0(K(D,s_0)-s_0) \subset$ $\subset s + t_0(K(D,s_0)-s_0)$ for $0 \leq t_1 \leq t_2 \leq 1$, it is sufficient to show that

 $(s + K(D-s_0)) \cap B(s,d(s,D)) \subset s + t_0(K(D,s_0)-s_0) \subset K(D,s).$

Let x in $(s + K(D-s_0)) \cap B(s,d(s,D))$ be given. Then x = s + + $r(z-s_0)$ for some $r \ge 0$ and z in D. As x is in B(s,d(s,D)), we have $d(s,D) \ge ||x-s|| = r||z-s_0||$, so that $r \le d(s,D)/||z-s_0|| \le d(s,D)/d(s_0,D) = t_0$. Assume $t_0 \ge 0$ and set $b = 1 - rt_0^{-1}$. Then b is in [0,1] and x = s + $t_0(bs_0 + (1-b)z - s_0)$ is in $s + t_0(K(D,s_0) - s_0)$. If $t_0 = 0$, then r = 0 and x = s is in $s + t_0(K(D,s_0)-s_0)$. We have proved that $(s + K(D-s_0)) \cap B(s,d(s,D))$ is contained in $s + t_0(K(D,s_0)-s_0)$.

By the convexity of D we have $d(s,D) = d(as_0 + (1-a)u,D) \le \le ed(s_0,D) + (1-a)d(u,D) = ad(s_0,D)$, so that $t_0 \le a$. This inequality and (1) imply that $s + t_0(K(D,s_0)-s_0) \subset K(D,s)$.

<u>Remark 1</u>. $(s + K(D-s_0)) \cap B(s,d(s,D))$ is a "natural" ball section of the cone $s + K(D-s_0)$ parallel to the generalized drop $K(D,s_0)$. Similarly, $s + t_0(K(D,s_0)-s_0) = K(D_{t_0},s)$ is a generalized drop parallel and similar to the generalized drop $K(D,s_0)$, where $D_{t_0} = s + t_0(D-s_0)$.

Lemma 2. Let D be a convex set and s_0 a point in a linear space. If s_0 is not in D, then

 $(s + \tilde{K}(D-s_0)) \cap K(D,s_0) = K(D \cap (s + K(D-s_0)),s)$ for each s in $K(D,s_0)$.

<u>Proof</u>. Let $s = ss_0 + (1-a)u$ with u in D and a in (0,1]. If $0 \neq h \in K(D-s_0)$, then the ray $s_0 + R^+h$ intersects D and hence $s_0 + bh$ is in D for some b > 0. Set $w = a(s_0 + bh) + (1-a)u$. Then w is in D and w = s + abh is in $s + R^+h$. We have shown that each ray $s + R^+h$, $0 \neq h \in K(D-s_0)$, intersects D.

Let x in $(s + K(D-s_0)) \cap K(D,s_0)$ be given. We show that x is in $K(D \cap (s + K(D-s_0)), s)$. We may assume that $x \neq s$. Then $0 \neq x-s$ is in $K(D-s_0)$ and hence there exist b > 0 and $c \ge 0$ such that $v = s_0 + b(x-s)$ is in D and w = s + c(x-s) is in D. If the set $(s + R^+(x-s)) \cap D$ is unbounded, then one easily sees that $x \in s + R^+(x-s) \subset K(D \cap (s + K(D-s_0)), s)$. Now assume that the set $(s + R^+(x-s)) \cap D$ is bounded; this set is nonempty because it contains the point w. The set $J = \{t \ge 0 : s + t(x-s) \in e D\}$ contains c and is bounded. We show that $s + t(x-s) \notin e^{t}$ $f(D,s_0)$ for each t > J (i.e. for each t satisfying t > j for each j in J). Assume the contrary. Then y = s + t(x-s) is in $K(D,s_0)$ for some t > J (and hence t > c), so that $y = gs_0 + t$ (1-g)z for some z in D and g in (0,1]. It is easy to see that

 $y = (bg + t - c)^{-1}(bgw + g(t-c)v + (1-g)(t-c)z),$ which shows that y is in D, i.e. t is in J, a contradiction. Hence y is not in K(D,s₀). This implies that

 $x \in co(\{s\} \cup (D \cap (s + R^+(x-s))) \subset K(D \cap (s + K(D-s_0)), s).$ The above considerations give the inclusion

 $(s + K(D-s_0)) \cap K(D,s_0) \subset K(D \cap (s + K(D-s_0)),s).$ As the opposite inclusion is trivial, the lemma is proved.

Lemma 3. Let D be a convex set and s_0 a point in a linear space. If s_0 is not in D, then

 $s + K(D-s_0) \subset s + K(D-s)$ for all s in $K(D,s_0)$.

<u>Proof.</u> Let $s = as_0 + (1-a)u$ for some u in D and a in (0,1]and let x in $s + K(D-s_0)$ be given. Then $x = s + c(v-s_0)$ for

- 445 -

some v in D and $c \ge 0$. We have w = av + (1-a)u \in D, s₀ = a⁻¹s -- (a⁻¹-1)u and hence x = s + c(v-s₀) = s + a⁻¹c((av + (1-a)u) -- s) = s + a⁻¹c(w-s) is in s + K(D-s).

Lemma 4. Let D be a convex set, S a set and s_o a point in a linear space. If S $K(D,s_o) = S \bigcap (s_o + K(D-s_o))$ and s is a point in $K(D,s_o)$ such that $S \bigcap K(D,s) = \{s\}$, then $S \bigcap (s + K(D-s_o)) = \{s\}$.

<u>Proof</u>. By lemma 2 we have $s \in (s + K(D-s_0)) \cap S = (s + K(D-s_0)) \cap (s_0 + K(D-s_0)) \cap S =$ $= (s + K(D-s_0)) \cap K(D,s_0) \cap S = K(D \cap (s + K(D-s_0)),s) \cap S \subset$ $\subset K(D,s) \cap S = \{s\}.$

Lemma 5. Let D be a closed bounded convex body in a normed linear space X such that D-z₀ is symmetric for some z₀ in D, $s_0 \in X$, S $\subset X$, s $\in K(D,s_0)$, $K(D,s) \cap S = \{s\}$ and S $\cap K(D,s_0) =$ = S $\cap (s_0 + K(D-s_0))$. Then $|u_+ - x| > |u_+ - s|$

for all x in S with x \neq s and all t ≥ 0 , where \.\ is the (equivalent) norm in X defined as the Minkowski functional of the set $K(D-z_0, s_0-z_0) \cup K(D-z_0, z_0-s_0)$ and $u_t = s + t(z_0-s_0)$ for t ≥ 0 .

<u>Proof.</u> Let $t \ge 0$ and let B_t be the t-ball in the norm 1.1 centered at u_t , i.e. $B_t = K(D_t, s) \cup K(D_t, 2u_t-s)$, where $D_t = s + t(D-s_0)$. As $D_t \subset s + K(D-s_0)$ and $2u_t-s \in s + K(D-s_0)$ (because $(2u_t-s) - s = 2t(z_0-s_0) \in K(D-s_0)$), we have $B_t \subset C + K(D-s_0)$. By lemma 4, $(s + K(D-s_0)) \cap S = \{s\}$, so that $B_t \cap S = \{s\}$. Hence for any x in S with $x \neq s$ we have $x \notin B_t$ and this implies $|u_t - x| > |u_t - s| = t$.

Lemma 6. Let D be a convex set and s_0 a point in a linear space satisfying $s_0 \notin D$, $s \notin K(D, s_0)$ (so that $s \Rightarrow as_0 + (1-a)u$ for some u in D and a in (0,1]), $z_0 \notin D$, $u_t = s + t(z_0 - s_0)$ and $D_t = s + t(D-s_0)$ for $t \ge 0$. Then:

(1) $2u_t - s \in K(D,s) \cup K(D,2z_0-s_0)$ and

 $K(D_t,s) \cup K(D_t,2u_t-s) \subset K(D,s) \cup K(D,2z_o-s_o)$ for all $t \in [0,a]$;

- 446 -

```
(2) 2u<sub>t</sub> - s ∈ K(D,s) ∪ K(D,2z<sub>0</sub>-s) and
 K(D<sub>t</sub>,s) ∪ K(D<sub>t</sub>,2u<sub>t</sub>-s) ⊂ K(D,s) ∪ K(D,2z<sub>0</sub>-s) ⊂
 ⊂ K(D,s) ∪ K(D,2z<sub>0</sub>-s<sub>0</sub>)
for all t ∈ [0,a(2-a)<sup>-1</sup>].
```

```
<u>Proof</u> follows from the identities

2u_t - s = (1-a^{-1}t)s + t(2z_0-s_0) + t(a^{-1}-1)u

and
```

 $2u_t - s = (1+t-2a^{-1}t)s + 2t(a^{-1}-1)u + t(2z_0-s).$ Under the corresponding restrictions on t, the right hand sides of these identities are convex combinations of points s, $2z_0-s_0$, u and s, $2z_0-s$, u, respectively. This proves the first part of . (1) and (2). The second part of both (1) and (2) follows from the first part and the inclusions $D_t \subset K(D_t, s) \subset K(D, s)$ (see lemma 1).

Lemma 7. Let D be a closed bounded convex body in a normed linear space X such that D-z₀ is symmetric for some z₀ in D, S a set in X, s₀ \in X $\ D$, s \in K(D,s₀) (so that s = as₀ + (1-a)u for some u in D and a in (0,1]), u_t = s + t(z₀-s₀) for t \geq 0. Assume that K(D,s) \cap S = {s}. Then: (1) If [.] is the (equivalent) norm on X defined as the Minkowski functional of the set K(D-z₀, s₀-z₀) \cup K(D-z₀, z₀-s₀), then

 $|u_t - x| > |u_t - s|$ for all x in S \setminus K(D,2z₀-s₀) with x ≠ s and all t in [0,a]. (2) If [[].[[] is the (equivalent) norm on X defined as the Minkowski functional of the set K(D-z₀,s-z₀) U K(D-z₀,z₀-s), then

 $\begin{aligned} \|u_t - x\| > \|u_t - s\| \\ \text{for all } x \text{ in } S & K(D,2z_o-s) \text{ with } x \neq s \text{ and all } t \text{ in } [0,a(2-a)^{-1}]. \\ (Note that a(2-a)^{-1} < a \text{ for all } a \text{ in } (0,1).) \end{aligned}$

<u>Proof</u> follows from lemma 6 (compare with the proof of lemma 5).

Main results. Several years ago we have proved the following

Theorem D ([DANES], Drop theorem). Let X be a Banach space,

S a nonempty closed subset of X, z_0 a point in $X \setminus S$, $\mathcal{E} > 0$ and $0 < r < R = d(z_0, S)$. Then there exists a point s in S such that

 $||s - z_0|| < R + \varepsilon \text{ and } K(B(z_0, r), s) \cap S = \{s\}.$

The proof of theorem D has been given by means of the

Lemma KZ ([KRASNOSELSKIĬ, ZABREĬKO]). Let X be a Banach space, x,y in X, 0 < r < p < ||x-y||. Then diam(K(B(x,r),y) \setminus B(x,p)) $\leq 2(||x-y||-r)^{-1}(||x-y||+r)(||x-y||-p)$.

A natural generalization of lemma KZ is the following

Lemma GKZ. Let D be a bounded convex set in a normed linear space X, s_0 in X with $d(s_0, D) > 0$ and s in $K(D, s_0)$. Then $||s-s_0|| \leq (1 - d(s, D)d(s_0, D)^{-1}) \cdot (d(s_0, D) + diam(D))$. Hence, if $d(s, D) \geq q$, then $||s-s_0|| \leq (1 - qd(s_0, D)^{-1}) \cdot (d(s_0, D) + diam(D))$.

<u>Proof.</u> As s is in $K(D,s_0)$, we have $s = as_0 + (1-a)u$ for some u in D and a in (0,1]. Then $\|s-s_0\| = (1-a)\|u-s_0\| \le (1-a)(\|v-s_0\| + \|u-v\|) \le \le (1-a)(\|v-s_0\| + diam(D))$

for each v in D, so that

 $\|s-s_0\| \leq (1-a)(d(s_0,D) + diam(D)).$ By lemma 1, $a \ge d(s,D)/d(s_0,D)$ and the result follows.

<u>Remark 2</u>. Setting D = B(x,r), $s_0 = y$ and s = x in lemma GKZ, one obtains a slight refinement of lemma KZ.

<u>Theorem GD</u> (Generalized drop theorem). Let X be a Banach space, S a closed subset of X, D a closed bounded convex subset of X with d(S,D) > 0 and s_0 a point in S. Then there exists a point s in S $\cap K(D,s_0)$ such that $K(D,s) \cap S = \{s\}.$

<u>Proof</u>. Theorem GD follows from lemma GKZ in the same way as theorem D does from lemma KZ (see [DANMES]).

<u>Remark 3</u>. It is clear that theorem GD implies theorem D. <u>Remark 4</u>. Patting theorem GD and lemma 7 (or lemma 5) to-- 448 - gether one may obtain futher results.

<u>Remark 5</u>. The assumption on the boundedness of the set D is essential as the following example shows. Let X be a nonreflexive Banach space. By the James' theorem there exists a linnear continuous functional f on X such that ||f|| = 1 and f does not attain its supremum on the closed unit ball S of X. Set $D = \{x \in X : f(x) = 2\}$. For each s in S we have f(s) < 1, $K(D,s) = \{x \in X : f(s) < f(x) \le 2\} \cup \{s\}$ and $K(D,s) \cap S =$ $= \{x \in S : f(s) < f(x) < 1\} \cup \{s\} \neq \{s\}$.

Theorem GD may be also derived from

<u>Theorem E</u> ([EKELAND]). Let (X,d) be a complete metric space, $f:X \longrightarrow (-\infty, +\infty)$ a l.s.c. function with finite infimum i = inf f(X), u in X, $\mathcal{E} > 0$ with $\mathcal{E} \ge f(u) - i$ and $\lambda > 0$. Then there exists a point v in X such that

$$\begin{split} \mathrm{d}(\mathrm{u},\mathrm{v}) &\leq 1/\lambda \quad , \quad \mathrm{f}(\mathrm{v}) \leq \mathrm{f}(\mathrm{u}), \\ \mathrm{f}(\mathrm{w}) - \mathrm{f}(\mathrm{v}) > -\lambda \mathrm{gd}(\mathrm{w},\mathrm{v}) \quad \mathrm{for \ all \ w} \neq \mathrm{v}. \end{split}$$

<u>Theorem E implies theorem GD</u>. Set $Y = K(D, s_{0}) \cap S$ and define $f: Y \longrightarrow R$ by f(x) = d(x, D). Then Y is a complete metric space and f is a continuous function on Y with $\inf f(Y) = d(Y,D)$. Take $\varepsilon, \lambda > 0$ such that (§) $(1 - \lambda \varepsilon) d(Y, D) > \lambda \varepsilon diam(D)$ (for example, one may take $\varepsilon = \lambda = S^{1/2}$, where S is any number satisfying $0 < d < d < d(Y,D).(d(Y,D) + diam(D))^{-1})$. By theorem E there exists s in Y such that $f(s) \leq f(s_0)$, $||s-s_0|| \leq ||s-s_0|| \leq ||s-s_0||$ $\leq 1/\lambda$ and $f(x) - f(s) > -\lambda \varepsilon ||x-s||$ for all x in Y with $x \neq s$, i.e. (§§) $d(x,D) + \lambda \varepsilon ||x-s|| > d(s,D)$ for all x in Y with $x \neq s$. We show that $K(D,s) \cap S = \{s\}$. As $K(D,s) \subset K(D,s_{n})$, this is equivalent to showing that $K(D,s) \cap Y = \{s\}$. Assume $K(D,s) \cap Y \neq \{s\}$ \neq {s]. Then there exist u in D and a in (0,1) such that x = = as + (1-a)u is in Y. By the convexity of D we have $d(\mathbf{x}, D) + \lambda \boldsymbol{\varepsilon} \| \mathbf{x} - \boldsymbol{\varepsilon} \| = d(as + (1-a)u, D) + \lambda \boldsymbol{\varepsilon} (1-a) \| \boldsymbol{s} - u \| \leq 1$ $\angle ad(s,D) + (1-a)d(u,D) + \lambda \varepsilon(1-a) \|s-u\| \leq$ $\leq \operatorname{ad}(s,D) + \Im \varepsilon (1-a)(\operatorname{d}(s,D) + \operatorname{diam}(D)),$ because $\|s-u\| \leq d(s,D) + diam(D)$.

- 449 -

The above inequality and (§§) give $d(s,D) < ad(s,D) + \lambda \varepsilon(1-a)(d(s,D) + diam(D)),$ i.e. (as 1-a > 0) $(1 - \lambda \varepsilon) d(s,D) < \lambda \varepsilon diam(D)$ and hence $(1 - \lambda \varepsilon) d(Y,D) < \lambda \varepsilon diam(D),$ which is a contradiction to (§).

As theorem E works on metric spaces and theorem GD only on normed spaces, it may be somewhat surprising that theorem GD implies E. We show that even theorem D (a weaker form of theorem GD) implies theorem E. The trick is to imbed a metric space isometrically in a normed linear space. We will use the well-known

Lemma 8. Let (X,d) be a metric space, x₀ in X and $C_b(X)$ the Banach space of all continuous bounded (real-valued) functions on X (with the supremum norm). For x in X, let $f_x(y) = d(x,y) - d(x_0,y)$, $y \in X$. Then f_x is in $C_b(X)$ and the mapping $T: X \longrightarrow C_b(X)$ defined by $Tx = f_y$ is an isometry.

<u>Corollary 1</u>. Let (X,d) be a complete metric space and $f:X \longrightarrow (-\infty, +\infty)$ a l.s.c. function. Define a function $F:C_b(X) \longrightarrow (-\infty, +\infty)$ as follows

 $F(u) = \begin{cases} f(T^{-1}u) & \text{if } u \text{ is in } T(X) \\ +\infty & \text{otherwise,} \end{cases}$

where T is as in lemma 8. Then the set T(X) is closed in $C_b(X)$ and F is an l.s.c. function on $C_b(X)$.

<u>Proof.</u> If $t = +\infty$, then $\{u \in C_b(X) : F(u) \leq t\} = C_b(X)$. If t is finite, then $\{u \in C_b(X) : F(u) \leq \}t = T(\{x \in X : f(x) \leq t\})$, so that the set $\{u \in C_b(X) : F(u) \leq t\}$ is complete as the image of the complete set $\{x \in X : f(x) \leq t\}$ under the isometry T. The same argument shows that T(X) is complete.

<u>Theorem D implies theorem E.</u> Let (X,d) be a complete metric space, $f:X \longrightarrow (-\infty, +\infty)$ a l.s.c. function with finite $i = \inf f(X)$, $u \ in X$ with $f(u) \le i + \varepsilon$ and $\lambda > 0$. By corollary 1 we may assume that X is a Banach space and d is the distance given by the norm of X. Let $Y = X \times R$, S = epi(f) =-450 -

.

 $= \{ (x,t) : x \text{ in } I, +\infty > t \ge f(x) \}, s_n = (u,f(u)), a > 0,$ 0 < r < 1, $z_0 = (u, i-1)$ and let the norm on Y be defined by $\|(x,t)\| = a\|x\| + |t|.$ Then $0 < r < 1 \leq \tilde{d}(z_0, S) \leq ||z_0 - s_0|| = f(u) - i + 1,$ where $d(s_0, S)$ is the distance from z_0 to S in the norm of Y. One easily sees that $K(B(s_{n},r),s_{n}) \cap H = (s_{n} + K) \cap H,$ and hence $K(B(z_0,r),s_0) \cap S = (s_0 + K) \cap S,$ where $H = \{(x,t) : x \text{ in } X, t \ge i\}$ and $K = K(B(z_0-s_0,r))$ (because $S \subset H$, $K = K(B(0, r/a) \times (i-1-f(u))$ and $B(s_{i}, r) \cap H = \emptyset$). By theorem D applied to the set $S \cap K(B(z_o, r), s_o)$ rather than to S there exists a point s in $S \cap K(B(z_0, r), s_0)$ such that $S \cap K(B(s_0,r),s) = \{s\}$ and hence, by lemma 5 (set $D = B(z_0,r)$), $|u_t - \tilde{x}| > |u_t - s|$ (§) for all x in S with $x \neq s$ and all $t \ge 0$, where |.| is the (equivalent) norm on Y defined as the Minkowski functional of the set $K(B(0,r),s_0-z_0) \cup K(B(0,r),z_0-s_0)$ and $u_t = s + t(z_0-s_0)$ for t ≥ 0 . It is clear that s = (v, f(v)) for some v in dom(f) = = $\{x \in X : f(x) \text{ finite}\}$; note also that $|(\mathbf{x},t)| = ar^{-1}||\mathbf{x}|| + t||\mathbf{s}_{0}-\mathbf{s}_{0}||^{-1} = ar^{-1}||\mathbf{x}|| + t.(f(u)-i+1)^{-1}$ for (x,t) in Y. Applying (\S) to any $\check{x} = (w,f(w))$ with w in dom(f) and $w \neq v$, we have |(v-w, f(v) - f(w) - t(f(u)-i+1)| > |(0,-t(f(u)-i+1))|,1... $ar^{-1}||w-v|| + |(f(u)-i+1)^{-1}(f(w)-f(v)) + t| > t \text{ for all } t \ge 0.$ This gives $ar^{-1}||w-v|| + (f(u)-i+1)^{-1}(f(w)-f(v)) > 0.$ i.e. $f(w) - f(v) > -ar^{-1}(f(u)-i+1)||w-v|| \ge -ar^{-1}(\varepsilon+1)||w-v||.$ We have proved that $f(w) - f(v) > -a(E+1)r^{-1}lw-vll$ for all w in dom(f) with $w \neq v$ and hence for all w in X with w ≠ v. Now we show that $||u-v|| \le a^{-1}r \, \mathcal{B}(\mathcal{E}+1)^{-1}$. Let y = (u, f(v))and let x be the intersection of the ray $s_0 + R^+(s-s_0)$ with the hyperplane $I \times (i-1)$ (take $I = S_0$ if $S = S_0$). Since

- 451 -

$$\begin{split} |s-s_{0}| &= |s_{0}-y| |s_{0}-x| |s_{0}-z_{0}|^{-1}, |s_{0}-z_{0}| = 1, |s_{0}-y| = \\ &= (f(u)-f(v)).(f(u)-i+1)^{-1} \text{ and } |s_{0}-x| \leq 2 \text{ (both } s_{0} \text{ and } x \text{ lie} \\ &\text{in the unit ball in the norm } |.| \text{ centered at } z_{0}), \text{ we have} \\ &ar^{-1}||u-v|| + (f(u)-f(v)).(f(u)-i+1)^{-1} = |s-s_{0}| \leq \\ &\leq 2(f(u)-f(v))-(f(u)-i+1)^{-1} \end{split}$$

(here we have used the inequality $f(v) \leq f(u)$ which is an obvious consequence of the inclusion $(v, f(v)) \in K(B(z_0, r), s_0) \subset C s_0 + K)$ and thus $||u-v|| \leq a^{-1}r(f(u)-f(v)) \cdot (f(u)-i+1)^{-1} \leq a^{-1}r(f(u)-i) \cdot (f(u)-i+1)^{-1} \leq a^{-1}r(f(u)-i+1)^{-1} \leq a$

 $\leq a^{-1} r \epsilon (\epsilon + 1)^{-1}$

The proof will be complete if, for given $\lambda > 0$, we are able to find positive a such that

 $1/\lambda = a^{-1}r \mathcal{E}(\mathcal{E}+1)^{-1}$ and $\lambda \mathcal{E} = ar^{-1}(\mathcal{E}+1)$. But this is easy: given $\lambda > 0$, set $a = \lambda \mathcal{E}r(\mathcal{E}+1)^{-1}$.

In [BRÉZIS, BROWDER] there is shown that theorem B below implies theorem D.

<u>Theorem B</u> ([BRÉZIS, BROWDER], Theorem 4). Let S be a closed subset of a Banach space X and \mathbf{s}_0 in $X \setminus S$. Let $0 < r < d(\mathbf{z}_0, S)$ and \mathbf{s}_0 in S. Then there exists a point s in $S \cap K(B(\mathbf{z}_0, r), \mathbf{s}_0)$ such that

 $S \cap (S + K) \cap B(s, \delta) = \{s\}$ for all $\delta < d(z_0, S) - r$, where $K = K(B(z_0 - s_0), r)$.

Now we show that

<u>Theorem D implies theorem B</u>. By theorem D applied to the set $S \cap K(D,s_0)$ rather than to S (where $D = B(z_0,r)$ and $\varepsilon > 0$ is arbitrary) there is s in $S \cap K(D,s_0)$ such that $S \cap K(D,s) =$ $\{s\}$. By lemma 1 (with $t_1 = 1$) we have

 $(s + K) \cap B(s,d(s,B(z_0,r)) \subset K(D,s).$ Since $d(s,B(z_0,r)) = ||s-z_0|| - r \ge d(z_0,S) - r$, we have also $(s + K) \cap B(s,d(z_0,S)-r) \subset K(D,s)$ and hence $S \cap (s + K) \cap B(s,d(z_0,S)-r) = \{s\}.$

We have shown, in fact, that theorem D implies the following apter form of theorem B.

Theorem B'. Under the hypotheses of theorem B, there

- 452 -

exists a point s in $S \cap K(B(z_0, r), s_0)$ such that $S \cap (s + K) \cap B(s, d(z_0, S) - r) = \{s\}.$

Let us remember the Caristi fixed point theorem:

<u>Theorem C</u> ([CARISTI], [CARISTI, KIRK]). Let (X,d) be a complete metric space, f a real l.s.c. function on X bounded below and T:X \longrightarrow X a mapping such that $d(x,Tx) \leq f(x) - f(Tx)$ for all x in X. Then T has a fixed point.

The equivalence of theorems C and E is evident (see also [BRÉZIS, BROWDER]).

Let us mention also a refinement of Krasnoselskil-Zabrelko renorming theorem [KRASNOSELSKII, ZABREIKO] as stated in [DANEŠ].

<u>Theorem KZD</u>. Let X be a Banach space, S a closed set in X and z_0 a point in X \searrow S. Let 0 < S < 1. Then there exists an equivalent norm |.| on X such that the |.|-distance of z_0 from S is attained at a point of S and at most at two points of S (in this case the sum of these two points equals $2z_0$), and such that

 $(1 - \delta) \parallel \cdot \parallel \leq | \cdot | \leq \parallel \cdot \parallel \cdot$

In [DANES] we have shown that theorem D is equivalent to theorem KZD. Summarizing, we may state the following

<u>CLAIM</u>. Theorems D, GD, KZD, B, B', E and C are mutually equivalent.

<u>Concluding remark</u>. The manuscript of this paper has circulated since Dec. 1978. Originally, we have not intended to publish it. As the number of papers in which the same (or related) results are derived by one of the equivalent theorems considered in this paper is increasing, we have decided to publish the manuscript. In the meanwhile, J.-P. Penot sent me his preprint "The drop theorem, the petal theorem and Ekeland's variational principle" (Sept. 1984) where he also proves among others the basic implication theorem D \Rightarrow theorem E. Unfortunately, a common publication is impossible because he has sent his preprint for publication.

- 453 -

- BRÉZIS H., BROWDER F. B.: A general principle on ordered sets in nonlinear functional analysis. Advances in Math. 21 (1976), 355-364.
- CARISTI J.: Fixed point theorems for mappings satisfying inwardness conditions. Trans. Amer. Math. Soc. 215 (1976), 241-251.
- CARISTI J., KIRK W. A.: Mapping theorems in metric and Banach spaces. Bull. Acad. Polon. Sci. 23 (1975), 891-894.

DAWES J.: A geometric theorem useful in nonlinear functional analysis. Boll. Un. Mat. Ital. 6 (1972), 369-375.

- EKELAND I.: On the variational principle. J. Math. Anal. Appl. 47 (1974), 324-353.
- ZABREIKO P. P., KRASNOSELSKII M. A.: On the solvability of nonlinear operator equations. Funkcional. Anal. i Prilož. 5 (1971), 42-44 (in Russian).

Matematický ústav Karlova universita Sokolovská 83 186 00 Praha 8 Československo

(Oblatum 14.2. 1985)